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A. B. The cows are eating gras- in the fi-lds.
C. D. Soon there were k-nde-gar-ens all over the w-rld
E.F. She was afra-d that Newton might f-rget to eat the egg.
G. H. We bought some tic-ets for a b-llfi-ht.
I.J.  Tom w-nd-red, “What if it snows all night? The ro-d will not be clear.
K. L. The m-stery was finally solved. They had a dise-se because of lead in the tins.

(oad £ ) ol ilial 3550 S € WS T ) Sl 0 2212 LS 1 (call el Y
noise /grow up/ raise /foreign/ laugh /melt /across / samples / environment

. Farmers -------------- food and animals.

Funny things make us ---------—-- .

French is a ---—-----—---—-- language in our country.

In spring, the ice begins to ------------- and the rivers become full.

They sailed --------- the Atlantic Ocean towards Canada.

We should protect the ----------—--———- by not polluting it.

Don’t make a ------------- in the class. Please pay attention to your teacher.
The scientists tested the -------------- and found three times more lead in them.

> <L A 0 4 «« —

(a)A.'a \)Mwmbjda..\&odg&s.b;uhnﬁjé\s\JL;LAXSL_QJ\)SAG_I
. I'sat by her and asked my questions.
V +.The amount of COY should be reduced in the atmosphere.

D

A o oad oS ad (LA 1y aS ) JlelS aliaia
VY. We don’t pick fruits when they are green.
VY. She can’t find her notebook.

(omd V). dmm s 3538 Claglaa Ll SO A sla 8 2 (¢
VY. The third season of year is called
V¢, The noun form of “discover” is --------------- .

14
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Vo, We should keep boiling water out of ------------- of little children.
a. raise b. rise c. reach
d. rich
V1. The first people living in a place are called ---------------- .
a. Inuit b. aborigine ¢. government
d. modern men
‘V.Bermuda Triangle has a special -------------- force.
a. poisonous b. pretty c. loud
d. magical
YA.Franklin took the wrong ------------- and the ships were trapped in the ice.
a. decision b. route c. cliff
d. bridge

(oY) LS LAl oa 02l (sl 4 S G 1)y o o Gy (<l gid — Y

V4. He didn’t have a car so he ---------——-- go by bus.

a. could b. should ¢. must
d. had to

Y. You - speak loudly in the class. It is not allowed.

a. don’t have to b. needn’t c. mustn’t

d. mightn’t

Y. It was difficult for him ------———eemee-- the tree.
a. climbed b. climbs c. climbing d.
to climb
YY.He has to -—-----———-- there now.
a. go b. going c. goes
d. went

(03 ¥): i i e
YY. can/well/in alibrary / they / study / never

Y¢. Dbe/there/ pretty / should / their books / in / pictures
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Yo, The watch is ----------—--- the bicycle. (cheap)
Y. While she , they came. (study)
YV.Have you ever ----------- snake meat? (eat )

(o)A_'a \)AﬁﬁdAlS\)ﬁ)k"_lM(A
YA. This car is © million tomans. The motorcycle is © million tomans, too.
The car is the motorcycle.

Y4. Did he have to speak English in that class?

Yes, he . He
(o)A.'a \/0) Ag.deALS \JQM)L\)JJ;\AQLJSMAA}SD(A
¥+.The car is of all. (fast)
¥).The dictionary is the book. (old)
YY.When winter comes, . (migrate)
A -hadl ¢
il Sialaals 4al oloS Crad
Y'Y, food /foot /soon /tooth VY. sit / did / hit / seat
v<, luck / some / full / done Yo, by / with / sign / like

(aJA}V).wL@\AJJAJ_}.A:\ASQM\jJ@}J Lg\.;’aﬂ\iégj\bwﬁg\};;uw-G

¥1. What does he look like? A. Sure, here you are.
YY. May I have a look at your newspaper? B. Sure, help yourself.
YA. Sorry, I need it right now. C. He’s wearing a long black coat
and he has a beard.
¥4. Can I have another sandwich? D. Yes, he does.
¢+, What does your father do? E. Oh, never mind.
£, Can he speak English? F. He is a farmhand.
G. Yes, he can.

A\




(aJA.'\ Y‘)A:\JS&_i\ALHJMJ.JdLAMi)gQM?}@AMAA}ﬁh(QM)@&&JJ(JL‘

£Y. One of the greatest Englishmen who ever lived was Newton.
From the above sentence, we understand that .................

a. Newton was one of the great Englishmen.

b. Newton was worse than other English people.

c. Many people were wiser and greater than Newton.

d. Newton has never been to England.

¢Y. In the morning the snow was deeper.
According to this sentence,
a. In the morning there was less snow than the night before.
b. The weather was snowy all night.
¢. The weather was warm and good at night.
d. The snow was not falling from night to morning.

¢¢, Modern man has lived on the earth for only Y°: + + years but in that time we
have changed our planet in many ways.
From this sentence, we understand that :

a. Technology has entered our lives for Y°+ + « years.

b. The earth is Y2+« « years old.

c. Yo+ ++ modern men live on the earth.

d. Modern man likes to change Y+ « + times more.

(6a38) (JalS Zuly 2‘\t\iV)%Jg\ﬁQY‘y@;%}‘F\JﬁjoﬁA:(O:‘A)Lﬁ.‘h-ﬁd)é(g

I had a letter from my sister, Mina, yesterday. She lives in Italy. In her letter, she
has said:"I will come to Tehran next year."If she comes, she will get a surprise
because we are now living in a beautiful new house in the country. Working on it
began when my sister went to Italy. The house was finished five months ago. The
house has many large rooms and a big yard. It is a very modern house, so it looks
strange to some people.

¢o, Mina wants to leave Iran now. True/False
€1, 1 got a letter five months ago. True / False

¢V, Has Mina ever been to Italy?
¢A. Why hasn’t Mina seen their new house?

£2. Why do some people think that the house is unusual?

Yy
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B. B. She kept on unt-I she had returned all the b-nanas.

C. D. The p-liticians vote in the el-ctions, too.

E. F. The ro-ks fell from the sp-ce on the moon.

G. H. The houses in the toy town mig-t come only to your wa-st.
I. J. Thous-nds of light b-lbs make the toy town glow.

K. L. Adults enco-r-ge boys to be me-sy.

(o §) ol ilial 3 )50 S S JalS 1) 3 S len 02 02la lalS 1y pibd ) gau Y
return / mirage / knowledge / keep on / right / punish / agriculture / industry /popular

YA If you ———-mm-mmemm- studying your lesson, you’ll be successful in exams.

Y4.Please the book I lent you.

¥+.In rural areas people often work in

YY.You should try to do it -------------- without making any mistake.
VY - takes place when light passes from hot air to cold air.
YY¥.Scientists have a lot of ----------—---- about human brain.

Y¢.We shouldn’t ------------——- and hurt children.

Yo.The -—-—------——-- toys for boys are usually guns and cars.

(6a3Y ) w92 3 68 Dlaglaa b cial S A& sls a0 -Y
Y. The short thick finger at the side of yows-hand is called --------------- .




YV. Let’s buy some bread. We’ve of it.

YA.The opposite of “wealthy” is

¥4.The verb form of ‘decision’ is

(edY) S ClaT] o2k ooy (sla 4y K w5 gl - £

¢+, Please buy some of soap when you come back.
a. bowls b. loaves c. bars d. slices
¢).Both the moon and the earth move the sun.
a. into b. along ¢. around d. across
YA is a place where people manufacture things usually with
machines.
a. church b. desert ¢. merry-go-round d. factory
¢Y.Some important changes the lives of many women.
a. earned b. voted c. expected d. affected

(cJA}\'/O/)A:\J\S A sak sala (sla 4_\:\‘)§ Om V) Gy C_u\:\ ;.\9\\95/)\9"“.\ Y g0

£¢, Are these my sister’s books? Yes, they are ---------—----—- .
b. mine b. theirs c. hers d. her
€2, The boys had gone nowhere, ?

b. did they? b. didn’t the boys? c. hadn’t they? d. had they?

¢1.In the past, women in offices.
b. used not to work b. didn’t used to work c. not used to work d. didn’t use to
work
Y+. The men yesterday were scientists.
a. whom I saw them b. which I saw c. who I saw them d. who I saw
Y).What had she done before he the country?
a. leaves b. left c. had left d. has left

(o003 V)1 g JalS alea G ) el Hlos S L -1

YY. the dishes / went out / before / you / put /had /you / in the Kkitchen

Y¢




YY. spring / in / beautiful / grow / flowers / that / are /the / very

(o303 V) 2 Jomg ad 43 1 Y0 s a5 2 g il JAl LS 1 Y€ g 50V

Y<, Why didn’t you let her leave the home? (not do her work)
I because

Yo.This is a woman. I like her very much.

This is

(000 ) (22 JalS ey 53 YV )i ) 20 ey 5y OVl s 4y pslaiagda il -A

Y. Which man is a mechanic?
The man a mechanic.

YV.Had there been any money in his pockets?
No, there

No, there

to repair

(UAA\/c/),m\‘ﬁ_é.l..'a\ajydﬁ,qﬂssuﬁaubwdtﬁ\ﬁwj\\Jﬁwahémg;u&a‘\

YA.Would you mind helping me? A. You’re welcome.
Y4, Thank you very much. B. About °:++ tomans
¥+.How much is that altogether? C. Not at all.

D. Of course

(ot V) Tl o gliia andy L JAAY plas Gl Al Al cany e ja o)




¥).a) food b) fool ¢) rude d) use

Y'Y.a) toe b) no c¢) hope d) town
YY. a) round b) noun ¢) know d) doubt
Y¢.a) blows b) shoulder ¢) due d) load

) S Al | ) G yo s 4 K Oles asgiadian il )

Yo.It is not surprising that many people do not know what is happening in other parts
of the world.
According to this sentence, -------=---==========-=moemm-—- .

Most of the news programs are about foreign news.

Foreign news always surprises people who watch it.

News reports do not spend much time on the news of other countries.
News programs are not mostly about home news.

goFe

¥1.Some holes of the moon have walls as tall as tall buildings.
We understand from this sentence that :-------- e
There are some very tall buildings on the moon.
The buildings on the moon are very tall.
There are some holes on the tall buildings.
The holes of the moon are very wide.

o g

YV. On average , women used to earn " °%of the salary of men.

It means that:-----=========m= o .

Women got less money than men in the past.
Women get 1°% of the salary of men now.
Men get more money these days.

The salary of men and women were equal.

iR S
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Ted Robinson was upset all the week. Last Tuesday he got a letter from the local police. In
the letter, he was asked to call at the police station. Ted wondered why he was wanted by
the police, but he went to the station yesterday and now he is not worried . At the station,
he was told that his bicycle has been found. Five years ago, the policeman told him, the
bicycle was picked up in a small village four miles away. It is now being sent to Ted by
train. Ted was most surprised when he heard the news because he never expected the
bicycle to be found. It

was stolen twenty years ago when Ted was fifteen years old.

YA.Where was his bicycle found?

Y4. Why was Ted so surprised?

¢ +.How were the police sending the bicycle to him?

£).Ted is now Y° years old. True / False

£Y.Ted was sure that his bicycle would be found. True/ False

Yv
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Housewi-es were the biggest group of vi-wers. Four of the famil- -s left the exp-r-ment .
They were glad to end the da-lystrug-le among family members. It has been fash- -
nable to think that by free education they can build a perfect n-tion. We need farmers to
pr-duce food. We can alre-dy see that free education for all is not eno-gh. The lo-s of
large areas of memory oc-urs in some ment-l and ph-sical illnesses. We need doctors to
c-re the sick.

(o € ) ol 3lial 35 50 S i€ JalS 1 ) S len 0 2212 LS | (all ;Y
details / rubbish /information / painful / rapid /society / ashamed / discussion /harmful

¢V.I cut my finger yesterday. It is very -------------- now.

¢A.Smoking is for our body.

¢4,“Have you heard about John’s accident?” “Yes, and I know all the -------------- , too.
°+.Does any ----------—-- need different services?

©).We cleaned the house and put the ---------------- outside .

°Y.After a long , they finally decided not to sell the house.

°Y.He is of showing his bad marks to his father.

©¢,Qur brain can record a large amount of

(o0 ¥) ) 50 (mdamy 53 g A lala o) 58 Jads QS (o

°o.I answered the questions . (honest)

©1,The pace of forgetting is ------------ at first. (rapid)

°Y.He didn’t ------------- how he solved the problem. (explain)
°A, His skills are for his age. (wonder)

©4,We believe in the -------------- of life on that planet. (exist)
1+.I should try to finish my -------------- soon.( educate)

(o5 )5 358 el s 241 S IS a8 5 (0

1Y, A person who can not see is ------------—-- .

1Y. The opposite of “weak” is -----------m--- .

1Y.The ---———-mmmmmmm- of YeYVand )+ is )¢,

g, is saying something (a poem, for example)over and over again.
1o, I can’t remember that telephone number. It doesn’t ----------——-—- in my mind.

11, Sitting too near to TV will have a bad -------------- on eyesight.

(oai%) LS LAl oa 02l (sl 4 8 G 1)y o o ey (<l gid — Y

1V, It is easy for a taxi driver a car.
b. drive b. drives c. to drive d. driving

¥4




1A, Maryam enjoys

b. reading

14.The sky is cloudy. It

a. rains b. was going to rain

raining

story books.
b. to read c. reads

tonight.

V+.Your shirt is dirty. Please and wash .

b. take them off
off it

VY.“Where did he travel?” “I don’t know where

a. he travels
travelled

b. take off them

d. will read

c. is going to rain d. was

c. take it off d. take

b. did he travel

VY.She is responsible -------- the accident.

a. on
for

b. in

c. does he travel d. he

c. at d.

VY. wake /before v /you/her/up/did/?

V¢, him/is /after / he

/ look / to / going

(603 ¥): S iy

Y4. When did he leave the
Can you remember

office ?

¥+. Climbing the tree was

n’t difficult for him.

It

(e0a3 ¥) S JalS 1 ) @lea (g
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YY.What has made the woman tired?

YY.What is the boy doing?

(DJA} V):m.i
) O gliie S dalS A by Sk Mes” L s dadli lai ) aalS S sy £ ja )

YY. dogs / maps / schools /foes V¢, uses / places / finishes / writes
Tl & gléta ﬁj 4alS 40 L "stress'! e HLES lat ) 4Ll
Yo, after /mother/ never/myself Y1, together / eleven / tomorrow / added

A...L\S dm} ‘\.ASLS\.A ©
(%)) ALl 3 ) 5a S

YV. What do the Iranians do in their free time? A. There is a show at ¥ and one
at 9.

YA, 1like to go to the dentist every six month. B. It opens at A:Y'+,

¥4. How often do you have English? C. They watch TV.

¢ +. What’s her hobby? D. It’s Yéo,

£). What do you do at weekends? E. Once a week.

£Y. When is the film on? F. That leaves at V:£o°,

£Y. What’s your flight number? G. I play ping-pong.

¢¢, What hour is the library open? H. That’s probably a good idea.

I. She plays computer games.

£) .S QLA | o (sl 4y R e o sge o dn 55 L o (3kad) athae S0 (i)Y
¢2, Some children found they had nothing to talk about at school.

From the above sentence, we understand that .................
The students found a lot of things to talk about at school.
They couldn’t find anything at school.

They could talk about a lot of things .

They found they didn’t have anything to talk about.

iR S
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£€1, We don’t like his way of life. He is always talking about money. In fact,

He doesn’t get much money.
Money is an end in his life.
Money is a means in his life.
He never likes to keep money.

oo

£V, Our purpose of education is

a. to prepare children for final tests.

b. to prepare children for examinations.
c. to control children in life.

d. to fit children for life.

¢A. What we remember and the way we recall it are influenced by our interests, emotional
feelings, and way of thinking.
According to this sentence:

Our interests have no effect on remembering and recalling.

If we don’t like something, we learn itbetter.

Remembering and recalling makes us interested.

If we are interested in something, we remember and recall it better.

R S
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Mary works in an office. Five days a week, she gets up early in the morning, eats her
breakfast quickly and then leaves home. She gets on a bus and goes to the office. There, she
types letters and does other things. At lunch break, she goes to a restaurant near the office.
She sometimes goes shopping in that time or she just looks at the things in the shop
windows and returns to her office. At °:Y+, Mary’s office hours end and she goes home in
a taxi. She lives with her parents. They are old and need her help. They are really lucky to
have such a nice and kind daughter.

vy




¢4, Mary goes to work at °:V+.  (True —False)

©+. She can relax at home two days a week. (True- False)
©). What does she do at her lunch break?

°Y. How does she come back home?

°Y. Does Mary live alone? Why/why not?

(oad 7). 2 JalS oadioaly (sla 4y R L 1, o)) & slala 5 il s |y ) (e (YOR).E

It was a very------ O night. There was a lot of oo onthe ground. Two men
had lost their way.They felt very cold, ------- O\ mmem and hungry. After walking for three
hours, they ----0Y-——--- arrived at a small house. An old man kindly -------- ©A---them into a
clean room. He gave them some warm food. The two men stayed there until morning. Then
the old man guided them to the nearest town. The men ----- O him for his help.

°¢, a. small b. high c. dark d. weak

©o, a. wind b. snow c. weather d. colors

©1, a. ashamed b. tired c. stupid d. relaxed

oV, a. finally b. really c. easily d. quickly

°A, a. refused b. surprised c. invited d. realized

4, a. searched b. examined c. improved d. thanked

Yy
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Burnt / during / brightly / draw / succeed / distance / member / order / steam
Vo, It’s a long .......... from here to my house.
V1.The moon shines ........... in the dark sky.
YW.lama............. of our school football team.

YA.We don’t go to school............ the summer.

Av.Can you ....c.eeeeen. a picture of a tree?
AY.When trying to put the boiling water on the table, she............ her leg.

AY.What do you want to .............. for lunch?

(00a3) ).dmasi 3 5a Claglaa b ciad S A sl 8 2 Y

AV A v sells meat.
A¢, Autumn is the third ............. Of the year.

(oa3%) L2 LAl oa 02l (sl 43 8 G 1)y Ca o ey Y
Ao, This book is too ........... . I can’t move it.

Yo




b. funny b. heavy c. little d. dirty

A1.Hot and cold are .............. .

b. sentences b. opposites c. exercises d. meanings
AV, If you want to .......... , you must study hard.

b. burn b. succeed c. get lost d. mystery
AA.The accident ............. At ¥ in the afternoon.

b. wondered b. happened c. returned d. finished
A4.Students should pay ........... to what their teacher tell.

a. attention b. practice c. umbrella d. answer
1+.My grandmother is too old. She can .......... Walk.

b. hardly b. slowly c. quickly d. badly

(0303, Y)ariS A o5 0013 (sl 4k R () 1y o )3 ey 138 g8/ glad ) guu- €
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. Which sentence is correct?

The old man in the park walked slowly this morning
The old man walked slowly this morning in the park.
The old man walked in the park this morning slowly.
The old man walked slowly in the park this morning.

IR

AY. Jaime’s grandmother went over the kettle, ................. 2.
c. didn’t he b. don’t she c. didn’t she c. don’t he

Y. There are so many students in the class, .................... ?
c. thereisn’t b. there aren’t c. isn’t there d.
aren’t there

1¢,Zahra wrote the sentence carefully, ................. ?
a. did Zahra b. didn’t she c. did she d. didn’t Zahra

(o3 T): e 5 JalS alon S ) S Slos S a L0
1o, the newspaper / carefully / He / everyday / reads

17, wrote / the sentence / He / yesterday / in the classroom / carefully

1V.hope / will arrive / he / I/ that/ on time

A
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1A.The class begins at A o\clock, .......ccccuuen.... ?
14.They worked hard yesterday..................... ?
Voo We Know you, «.ccevevvennnnnnns ?
Y+ V. Aliisn’t a careless driver, ....cccceeven..... ?

(oY), 280 JalS Zeuly ) Y g an -V

V +Y.Which do you think is larger, Tehran or Karaj?

\ +Y.Which one do you guess is heavier, a taxi or a boss?

(b‘),d Y)JAAS«_\LAL\ \Ji\u‘)ﬁduMgﬁdhe)@h@@jﬁgzﬂhﬁdﬁ)dﬁ\ﬂjﬂ-/\

V+ ¢, James could hardly see the steam but it could move the heavy lid of the kettle.
From the above sentence, we understand that

a. It was easy for him to see the steam.
b. It was difficult for him to move the lid of the kettle.
c. The lid of the kettle could hardly move.

d. The steam coming out of the kettle had the energy to move the lid.

\+©.Not all birds migrate, but a great number of them do. Many like to migrate at night.
Then during the day they can rest and eat.
From the above sentence, we understand that .................
a. Birds don’t fly at night
b. Large numbers of birds migrate
c. Grate numbers don’t migrate
d. Birds migrate during the day
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My family likes the sea very much. When we have a holiday, we go to a place at the
seaside and borrow a boat from one of our friends. Then we sail on the sea and catch fish
all day. Sometimes we sail on a small lake near the sea. We are very careful loon this lake
because there are a lot of sharp rocks there. There are not many fish in the lake. The fish
aren’t very big, but they taste very good. When the weather is fine, we go to the land at
lunch time and make a fire with the pieces of dry wood and cook the fish and eat them.

Yo, Where do the writer and his family go when they have a holiday?

Yoy, Why do they sail on the lake very carefully?

VoA, How do they make fire?

Veq, The lake isn’t far from the sea. True/ False

AR They eat their lunch in their boat. True / False
Good luck

YA



In the Name of God
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crowded / last / humid / cure / hurt / during / scared / trouble / quiet

Yoo Something has ............. The baby. That’s why she is crying.
Yo Mary is sad because the doctors don’t know the ................ for her illness.
Yoy, People who cannot read and write usually get into ............... .
VoY, If hiccups go on for a long time, they can .............. .
Vof, Tehran is a very ......... city. It has a large population.
Yoo, Our city is hot and ............ in summer.
Yo, Please be ............. . The baby is asleep.
Yoy, Most of the time hiccups............. Only for a short time.
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VoA, We see with our eyes. We eat and drink through our ............. .
Ved, Everybody knows that Delhi is the ............ of India.
(oY) S LAt oad oala sl 4y 8 G 1)) s yo Geuly -
VY., The old man made lovely toys out of ........... .
c. wood b. food c. boot d. book
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YhY, I saw Jim walking ........... the station.

c. between b. during c. toward d. without
VYY, A person who is traveling or visiting a place is called a/ an ............ .
c. boss b. sailor c. officer d. tourist
VY, ’m.......... mixed up. I can’t answer any of these questions.
c. correctly b. carelessly c. completely d. finally
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VVe, Which is ............ best restaurant in your city?
e. one b. a c. - d. the
VYo, We often watch ........... television after dinner.
d. a b. - c. the d. an
(AR I didn’t make the dress for you. I made it for ......... .
d. mine b. myself c. me d. 1
VY, If she study hard, she ........ her exam.
b. pass b. passed c. will pass d. has passed
VYA, If you are in a hurry, you ........ a taxi.
a. will take b. can take c. took d. had taken
VY4, They will come here if he ........ them.
a. inviting b. invited c. invite d. invites
‘Y., We get heat from ......... sun.
a. an b.a c. the d. -
AR I usually get up in ...... morning.
a. a b. an c.- d.the

(oad £). 083 JalS Gy o) Y gy -0

‘YY, What will you do if you find some money? (find its owner)
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VYV, What will your parents do if you get good marks? ( be happy)

VY€, Who has found him the new job?
No body,

\Yo, Will you clean the room for me?
Why don’t you
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YY1, The teacher explained the lesson to us this morning.

? (the teacher)

------------------------------------------------------- ? (the lesson)

? (this morning )
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VYV.The old man disliked cream, so he put it aside. It means that

a. he ate the cream ¢. he liked cream so much
b. he looked like cream d. he hated cream

YYA.One of the muscles that help you breathes starts jerking for no good reason. And
that’s when you hic. Hiccups are not an illness. They are a big bother.

According to these sentences, hiccups

a. show some kind of disease c. happen for no good reason
b. hurt the muscles d. are good for some people
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Yesterday, I had a letter from my sister Mina who lives in America. In her letter, she said,
“I will come to Tehran next month.” If she comes, she will become surprised because we
have changed our house and we are living in a beautiful big house now. We bought it ¥
years agowhen she was in America. It has many rooms and a big garden. I am sure she
will like it when she sees it.

YYa, Had Mina seen the new house before she went to America?

VY., When will Mina come to Tehran?

AR I had a letter from my sister Mina Y years ago. True o
False o

YYY, Mina bought a house for us in America. True O
Falser

VY'Y, Mina will become surprised because

a. she will come to Tehran c. she sent a letter to them

b. they have bought a new house d. they don’t like the new hous

Good luck
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Adyvised / invention / friendship / organized / sheets / together / far apart / secret / medal

AN All the events in Olympic Games are ............... by 1I0C.
AR I will never forget you even when you are ................ .
VYA, Don’t tell the news to anybody. You must keep it as a(n).............. .
YYa, Long ago in Egypt people made ........... of paper from papyrus.
‘Y. The doctor ............. him to stop smoking.
AR She won a gold ............ in the Olympic Games.
VY'Y, My friend and I always walk to school ............. .
AR The. ............ of the telephone changed the world.
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AR A person who is good at sports like running, swimming is called............. .
\Ye, Breakfast is the first.............. of the day.
AR She wrote a letter to her friend, put itin an ......... and took it to the post office.
RS Egypt is the name of a hot ............... in Africa.
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VYA, When you are .......... you are unhappy because you have nothing interesting to
do.
d. afraid b. bored c. excited d. shocked
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Yva, There is no need to ............. . I can here you.

d. touch b. speak c. shout d. teach
Ve, Smoking is a bad.............. .
d. habit b. sport c. topic d. sense
VEY, Ican’t............ the puzzle easily. It’s difficult.
d. touch b. cover c. watch d. solve
VEY, Read the .......... On the bottle before you take the medicine.
c. competitions b. instructions c. compositions d. observations
VEY, Drivers should drive............ in winter. Snow-covered streets are very
dangerous.
a. painfully b. usefully c. harmfully d. carefully
Vég, | N the box with a ruler.
a. punished b. repaired c. measured d. followed
Véo, The teacher ............ her students to ask questions.
a. encouraged b. practiced c. discovered d. researched

(a)mi).l;:.xs GlaAT sad sala sl 4"‘:3)§U:.” J\ \J Gy C—w\.ﬁ :AQ‘JE/JJ:\HA G;\Y‘Jm-i

Ve, Mina wants ............ off the television.

f. turns b. turn c. turning d. to turn
VeV, She doesn’t like .............. here. She hates this job.

e. worked b. works c. work d. working
VEA, He told me ............. put on my white shirt.

e. not to b. not c. don’t d. doesn’t
V€4, My little brother ............. playing in the park.

c. decides b. tries c. wants d. enjoys
Voo, He is very strong. He never seems .......... .

b. tire b. tiring c. tired d. to tire
Yoy, I saw an .......... Film yesterday.

b. excited b. excite c. excitingly d. exciting
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yox, Do you understand what’s happening in the film?

No, I’m completely ................. .
b. confused b. confusing c. to confuse d. confusingly
Yoy, I don’t know why your mother looks .............. today.
b. unhappy b. unhappily c. very unhappily  d. most unhappily
Vog, The film was interesting. It ......... many people.
a. exciting b. produced c. attracted d. confusing
(o8 V)12 s JalS alen S ) lalS 5los 8 1520
Voo, coffee / here / nice / the / very / tastes / made
You, Expensive / this / Persian / is / beautiful / carpet / very
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Yoy, “The Olympics consist of a two-week summer games and a ten-day winter
competitions.”
According to this sentence, we realize that -----------=----=-—-cee e - .

e. the Olympic Games are held in all seasons.

f. the summer Games are shorter than the winter Game.

g. the winter Olympic Games are as long as the summer Games.

h. the winter Olympic Games are shorter than the summer Games.

VoA, “ Sports and Games make our bodies strong, prevent us from getting too fat, and
keep us healthy.” Those who do sports and Games are usually .................. than other
people.

e. Fatter and taller c. thinner and weaker
f. Stronger and healthier d. younger and happier

Yo, Some new words become part of a language, just as hello did. This sentence
means.............. .

Some new words aren’t found in any language.
Hello and some new words are forgotten.
Hello didn’t become part of a language.

Hello became part of a language.
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Mr. Robinson worked in an office. Every morning, he had breakfast with his wife at half past
six, read his newspaper, drank a cup of tea and then left his house at ¥V o’clock to go to catch
his train to town. Yesterday morning he was still sitting comfortably at the breakfast table and
reading his newspaper at five minutes past seven. He did not seem to be in a hurry and asked
his wife for another cup of tea. “Another cup?” she asked. “But aren’t you going to the office
today? Have you got a holiday? ” “The office?” he said and looked up from his newspaper
very surprised. “I thought that I was at the office!”

Vi, Where did Mr. Robinson work?
VY, What time did he go to work every morning?
Vay, Did he go to work in time yesterday morning?
‘v, What did he ask his wife for?
Vg, He ate breakfast at home. True/ False
Vlo, He had a holiday yesterday. True / False
Vi, Yesterday he was at work at seven five. True/ False
iy, He read his newspaper before drinking tea. True / False
Good luck
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\Y. BONUS!
Get an extra turn!

V+. Go back
three squares!

4. Adverbs

A. Taq Q

V. That cluase

VY. Taq Q 1. Adverbs
\¥. Adverbs
°. Taq Q
FINISH V. That clause | Y.TaqQ Y. Adverbs t. That clause
START HERE
q ‘:\MJ#
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\Y. BONUS!
Get an extra turn!

V+. Go back
three squares!

4. If clause

A. Article

V. Question
making

\ ¥. Question making

\ ¥, Article

1. Self-pronouns

o, If clause

FINISH \. If clause Y. Self-pronouns ¥. Question £, Article
making
START HERE
Vo G 5
Grade ¥
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V). BONUS! V+. Go back 4. Order of adj A, present & past | V. V+ Object+
Get an extra turn! three squares! participles used as | infinitive

adj
VY. V+ Object+ 1. Reporting
infinitive speech
\¥. present & past
participles used as °. Order of adj

adj

FINISH V. Order of adj | Y. Reporting speech ¥. V+ Object+ ¢, present & past
infinitive participles used as
adj
START HERE
AR cﬂu\,ﬂg
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Grade ! participants’ post-test results (experimental vs. control)

Group N Mean Std. Deviation Std. Error
Mean
Experimental T VY EA €A ot
Post-Test
COl’ltI‘Ol o /\'-LO i‘qi .1‘4

Independent-sample t-test (grade ! participants’ post-test results)

Leven’s Test for Equality of  t-test for Equality of Means

Variance
F Sig. t df  Sig. (Y-tailed)
Equal
Post-test variance Y.ve N4 o AA YYY e
assumed
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Grade Y participants’ post-test results (experimental vs. control)
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